Blue Pelican Alg Il

First Semester

/

Teacher Version 1.01
Copyright © 2009-2013 by Charles E. Cook; Refugio, Tx

(All rights reserved)

www.bluepelicanmath.com



Alg 1l Syllabus (First Semester)

Unit 1: Solving linear equations and inequalities
Lesson 01: Solving linear equations

Lesson 02: Solving linear inequalities (See Calculator Appendix A and associated video.)
Lesson 03: *Solving combined (compound) inequalities

Lesson 04: Converting words to algebraic expressions

Lesson 05: Solving word problems with linear equations

Lesson 06: *Graphing calculator solutions of absolute value problems (See Calculator
Appendix D & associated video, and Enrichment Topic A.)

Unit 1 review
Test: Unit 1 test

Unit 2: Slope; Solving a linear system of two equations
Lesson 01: Slopes of lines: four different points of view

Lesson 02: Two forms for the equation of a line

Lesson 03: Graphical meaning of the solution to two linear equations

Lesson 04: Algebraic solutions (elimination & substitution) for two linear equations
Lesson 05: Word problems involving two linear equations

Lesson 06: Graphing calculator solutions of linear systems (See Calculator Appendix C
and associated video.)

Unit 2 review
Test: Unit 2 test

Unit 3: Graphing linear inequalities in two variables
Lesson 01: Graphing single linear inequalities in two variables

Lesson 02: Graphing systems of linear inequalities in two variables

Lesson 03: *Graphing calculator- graphing systems of linear inequalities in two variables
(See Calculator Appendices B & E and associated videos. Also see
Enrichment Topic B.)

www.bluepelicanmath.com



Cumulative review, unit 3
Unit 3 review
Test: Unit 3 test

Unit 4: Multiplying and Factoring Polynomials
Lesson 01: Simple polynomial multiplication and factoring

Lesson 02: (a + b)z, (a- b)z, (a—Db)(a + b)--- multiplying and factoring
Lesson 03: More trinomial factoring (Leading coefficient not one)
Lesson 04: Solving equations by factoring

Lesson 05: *Solving word problems with factoring

Lesson 06: *Binomial expansion theorem

Cumulative review, unit 4
Unit 4 review
Unit 4 test

Unit 5: Exponents and radicals
Lesson 01: Exponent rules (This lesson will likely span two days)

Lesson 02: Negative exponents

Lesson 03: More exponent problems

Lesson 04: Simplifying radical expressions

Lesson 05: Fractional exponents

Lesson 06: *Solving equations having rational & variable exponents
Lesson 07: *Solving radical equations

Lesson 8: Rationalizing denominators

Cumulative review, unit 5
Unit 5 review
Unit 5 test

Unit 6: Completing the square, the quadratic formula
Lesson 1: Solving equations by taking the square root
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Lesson 2: Completing the square

Lesson 3: *Deriving the quadratic formula

Lesson 4: Using the quadratic formula

Lesson 5: Determining the nature of the roots; The discriminant

Cumulative review, unit 6
Unit 6 review
Unit 6 test

Unit 7: Relations and functions
Lesson 1: Representations of relations and functions

Lesson 2: Independent & dependent variables; Domain & range (See Calculator
Appendix F and associated video.)

Lesson 3: Function notation; Evaluating functions
Lesson 4: *Even and odd functions (See Calculator Appendix G and associated video.)
Lesson 5: Putting it all together: x-axis & y-axis associations

Cumulative review, unit 7
Unit 7 review
Unit 7 test

Unit 8: Analyzing and graphing quadratic functions
Lesson 1: Forms of quadratic functions

Lesson 2: Finding intercepts and graphing quadratic equations
Lesson 3: *Analysis of quadratic functions

Lesson 4: Using graphs to analyze quadratic transformations

Lesson 5: *Writing quadratic functions
Lesson 6: Analyzing quadratic functions with a graphing calculator

Lesson 7: *Quadratic inequalities
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Cumulative review, unit 8
Unit 8 review
Unit 8 test

Unit 9: Reflections, translations, and inverse functions
Lesson 1: Reflection fundamentals

Lesson 2: Translations and reflection of relations
Lesson 3: *Inverse function fundamentals
Lesson 4: *Determining if two relations are inverses of each other

Cumulative review, unit 9
Unit 9 review
Unit 9 test

Semester summary
Semester review
Semester test

Enrichment Topics
Topic A: Analysis of absolute value inequalities

Topic B: Linear Programming

Topic C: Point-slope and intercept forms of a line

Topic D: The summation operator, X

Topic E: An unusual look at probability

Topic F: Rotations

Topic G: Absolute value parent functions

Topic H: Dimension changes affecting perimeter, area, and volume
Topic I: Algebraic solution to three equations in three variables
TopicJ: Algebraic solution to quadratic systems of equations.
Topic K: Derivation of the sine law

Topic L: Derivation of the cosine law
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Topic M: Tangent composite function derivations

Topic N: Locating the vertex of a standard-form parabola
Topic O: Algebraic manipulation of inverse trig functions

Topic P: Logarithm theorem derivations

Topic Q: Arithmetic and geometric sum formulas

Topic R: Converting general form conics to standard form

Topic S: Conic section applications
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Solving linear equations and inequalities
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Unit1: . ] .
ALessun 01 Solving linear equations

Solve this linear equation: 3x —4 =5x +1

The goal is to first get all the x’s on the left side of the equation and all
the “other stuff” on the right side. In earlier courses we did this by first
adding -5x to both sides as follows:

it = +
5
—ax—4=/

In this course we will begin taking short-cuts to speed things along.
Beginning again with 3x —4 =5x + 1, we say that we will “transpose”
(move) the 5x to the left side. When we do, we change its sign. The
result that is equivalent to the above is:

3X—4Y=8EX+/
<7
-5X +3X—4=/

Combine the —5x and 3x and then transpose the —4 to the right side and
change its sign to get:

—ax-=4=/,
—ax = /+4
x = &

— L

Notice the last step where we divided both sides by —2.
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In the following examples, solve for x:

Example 1: 2(4x —9) =x +2

2% -9) = X4
X —=16= X+2
e.,_._../

Example 2: x — 5x = 2(—3x + 4)

— 3
N-5XK=00-3x+4)
—uyxT —¢x +8

FX — X =+ /K "},‘H’Lé’r:g
7X = 20 2x =8
X =% g
Example 3: (%) x+6=14 Example 4: 4(x-5) = 7x
(E)x +6=4 24(x-5) . 7X
=
Aoy = 14— <7
S = 4=0 Ox =/ = TX
dLy=9¢-2
4 IX—-T7X =70
X*: I(-P _“SX = /O
X :__/2 = _c:?_-
-5
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Assighment:

In problems 1 — 16, solve for the variable:

1. 12x = 24 2. x+3=28
)(.-:ﬁ X+3=L
= X=F,-3
::_-,Q_ ___5'
N 4. —11x = —33
= B3
- - "'.//
X - 02 =
X =R
5. _4+(§)x:4 6. 3x = —2x+ 10
34 +50=43 3X = “RX+
=12+ X =12 BX +QxX = /0
%= 12413 S
x =24 X
7. -x—2=22x+1 8. 7(x — 2) = 4(x + 15)
—X-a=Zax+ | 70%-2) = /%75
=X -2a%X= /AR gx-14 =YX o
— 23X = 3 7% — </ X é&/vﬁ/”-/
X
¥ = -3 3
23 « - [
%]
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9. 5(x—6)+ 1 =4(—-1+x)

STx-0)+1 = 47 +X)
5>t~30 +/=—Y+YX

m*ﬂ

Sx— IX = ~Y 499
X =28

Alg I, Unit 1, Lessonl_teacher, page 4

10. 12x —(x—1) =11+ 4x

[RAX—=X 4+ = /I+¥X
HX4E] = W+

~—
X —ox = -/

7x = /0
| 72
x-[%

11. x(1+5)=x(2-7)+2

12. -(x+1) =3(x—6)

X (6)= X(5)+ M@?) 3% )
Nl —x-]"= a%—I&
X =2 —X—8% =18+ |
- o\ _'L}x = "'P?
X’T_ _ =17 |1
X= =g "4
13. 8(—x—1)+7 =2 14 eraq3XT2

~f?x f)+’7 Q
Px+& =2~
X = ~5-¢
FX = ~I3
=1 _fs
=5
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(oX+2)= SX+2 &
slxra)~ 32z

h‘-—.,
RAX+Y = Bx+3
S
J/RX—3X = -4
Q){ = e

X =

-t
9
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16. (3x+8)/4=1- X/2

ﬂ’@xw’) [*_ﬂ) -
3x+& = 4 - g = 4 — X

Sx+ox = 4—F
S% ==

KX =|F

17. Simplify 3m+2m —6

5m—{(o

18. Simplify —2(y —6) + 8

—gc& -6 +&
=—2y + ja+ €
- fﬁtj + 20

19. Simplify (11-2)y

uﬁl-;l)%ﬂ L "'CH{;%
= "’75. - ”3#93
= G’Ij
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20. Simplify x(4 + 7)

AN
oy (447) o X (A4
-l Y] X qu
=[11X




/
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Unit1:

Lesson 02 Solving linear inequalities

To solve an inequality, treat it just like an equation with this one
exception: when multiplying or dividing both sides by a negative
number, reverse the inequality.

It is suggested that when solving, the variable be isolated on the left
side.

In the following examples, algebraically solve for x and then graph on a
number line. (Be sure to graph < & = with closed circlesand < & >
with open circles):

Example 1: 24x < 48 Example 2: x — 8 < 5x
QY X< 48 X—=§ < 65X
X = % —5x4+x< §
X< A _%x}{gg # Note SigN
) B ~_ A = yrexen
— 3 X>-3
< *_"-; L >

Example 3: The teacher’s age (t) is at least 3 times your age (y). Write this as an
inequality in terms of t and y.

t= 3y |
Z'r'" nstead of ‘et A’-ﬂff: t swd
"ot mest the answer would hHave

been = 3y
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Example 4: 6(x —4) > 22x —5

CO-) = oax-S

bX-29% = =S+

—lbX =z |9
(‘*rmtﬁa]) X = :%
e
2 —t >
o -9 ©
Te
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Example 5: %(x —-5)>16

2L -8) > 16 -2
K-8 > 3K
X >32+8
Y > 3%
.

S




Assighment:
In problems 1 — 14, solve for the variable:

Alg 1, Unit 1, Lesson2_teacher, page 3

1. x+2>6 2 (%)x>_6
A2 > b % | 7
Ay >—6-3
X > 2 Z*
X = —I1g
X >4 . N
p | — < " ; >
- b4 “* - .—lg o
3. 2t—3< -4 4. =2z > —10
-3 = -4 e L —d [
Q.i.;: 2 7 = —1e
2t € -4 4 Y
QL= —| 2<5
£t £ =L &
e—e >
& | ! o < o 5
— _::_ :; 2
F2

5. 7x +4>5x—4

x4 = x4

X —-SYX > —4—4
ax > —¢g
X > —4
P cnwmmmaN
—y o
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6. 3x+2>4(x+5)

3% *aﬁ;‘-@?ﬁ\

R4 = HX+0

Sy—4Y >20-A,
—%X > 1\§
X < —1\¢ (resrsal)
-:&—'a
-. { >

_"8 =]

v
S



7. 2(p+2)—-3>5(p—-1)

2Gwy-3> Sth-1)
Qpti-3=5p-S
ap+ | Z5@-S
ap-5p > -5—1I
—3p > b
LA (recessal)
O

i 1 "

e a ’

-
£
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8. 4(1+m)=2m—-(1-m)

ATy = am-G-m)
4 Ha4m= g -\ +m
4 +am =2 3m - |
B—Bw = — =4

9. 3[2(x—1)—x] <5(x+2)

IE (O =y ﬁﬁ?g)
3 [ax-a-X] < S¥+I0
3T < 5x+10
A= < SKFIO
—_—7

Sx-8X < 10+(
—2% < s {reversal)

1 —
< - -

10. 12x —(x—1) > 11 + 4x

jax =T = WX
Y -xX+l = 1 44X

X+ T> 1] 44X
—

UX—H% > [1—]
% = IO
X = _10
7
o—>

< t ; >
I
o n,.;?

11. x(1+4+5)>x(2—-7)+ 2
x (0)> X (-5)+ 2

SK+ X > R
WX = a
> =2
X I
1
< o _,é-‘_ —>
1]
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12. -(x+1) <3(x—6)
TN
- (x+) £ 3@"5)
—x—) = 3X—I§

—x—3%x = —18+ 1
“4Hx < —1N
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13. My weight (m) is at least as much as your weight (y). Express this inequality in

terms of mandy.
m = 'zj-

14. Four times the number of hamburgers Bill ate (B) is still no more than what
Lucas ate (L). Express this statement as an inequality in terms of B and L.

HAB = L
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Unit 1: * . . . .
i‘ Lesson 03 Selving combined (compound) inequalities

In the following examples, algebraically solve for x and then graph on a
number line.

Example 1: —4 < 2x < 8 First, we must recognize that this is really two
simultaneous inequalities that could have been written as:

—4<2x and 2x<8 (alsowrittenas—4 <2x N 2x<8)

Solve each half and combine:

-ax=4 X<£

X = —3-’_\’ ¥ < Ll'
S
Ansverp g o

Notice above that we wrote our problem as two separate inequalities
with the word and (or the symbol N) between them. This is called a
conjunction and makes it necessary to find the intersection of the two
answers (where they overlap) to produce the final answer.

Example 2: —4 < .5x <5

—4 < ,5X and .5X=5
S

—sx<4 X £ 73
x_::._% ﬂuxuﬁ?f?srr 5
e

A o) N

www.bluepelicanmath.com
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In the next two examples the word “or” indicates a disjunction so we
take the union of the two answers.

Example 3: —4 > 2(x— 1) or x> 7 (alsowrittenas —4 >2(x—1) U x>7)

_m_& o1 X=27
—F

x>2 s
X<—-| <—o o L, e—
(veversal) e
Example4: —4 <2(x—1) or x=>7 (—4<2x—1) U x=7)
— gy S5, X=17
1< ax-a  or ;
— X< 42 o— —
x<a :
X>—/ o AN

Ve
Answer ( thin )
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Assighment:

In problems 1 -9, solve for the variable and graph on a number line:

1. 2<x+3<4

-2 X+3 and X+3 <5
-X £ a+3 X< 43
- X < /
-xX< S Strrrrazre >
i 1 i
=-5 "5 5\
ansmf_-—’r' 2
2. z2+3<1lorl<z-2
_
?fijs or /=< Z-3L
= -2 < —/-2
2< -2 —2< 8
2>
& o o >
\{ -;-f-wﬁ'%ﬂr-—-m% ;
3.1<m+5<6
—
/i}m-fg and m+S <6
-z Y 72’
ﬂ’?-’:_?‘, 4 t 1 -
— D
answ:r'w-}-—é'l
4. k-3>0 U k—1<3
k-3Z0 or £-1<3
=3 K235+ /
¢ ° £ ¥
& -
f ] I
Lo 3 4
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5. 1—2x>5o0or 1—-2x< -2

FaxBs  er (EXZE
XS —axX< =3
=X > 4 x> 5
XL L <
< o o—
\ | 1
;-ng aﬂ.s‘v_n?er \E:.S =
6. 3—x<2o0rx—3<2
3-X=a or X—3<2
—X =a-3 X <243
-X =~/ X<&
x=/ S = —
o | 5
NSwer ~~> < >
7. 2p—2<p+1<2p+3
— —
ap-a<ptl/ and  p+ /! ="2pF+3
Ap-p < 2141 pP—8p = 3=/
p <3 -p <
 TTTTTTIT AT
_% 'I: %wmswer
8. 6>x—1>3
b= X1 and j'c;..:::.-jr o
-X>-6—1 x> 4
-xX>=-7 T
X<7 Arm— -
o - 7
ANSpitr el o—0
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9. -3x>9 N B8x>-16

—3X>9 and a”xb-':;é:
X<-3 X T
< ; —

-3 -2 o

& MNo answeér 3 f.éfy Aeon % ¢em z‘e:—.rafz‘

10. Answer these questions with either “and” or “or.”

Conjunction is associated with what?  gn<
Disjunction is associated with what? &/

11. What symbol is used for intersection (and)? N
What symbol is used for union (or)? U
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Unit1:
Lesson 04

Alg Il, Unit 1, Lesson 4_teacher, page 1

Converting words to an algebraic expression

Before actually doing “word problems” where a variable is ultimately
solved, it is necessary to become proficient at converting those words
into mathematical language. Define all variables.

Example 1. What is the sum of three
consecutive integers?

n= f‘i-d- f}?f-
N+l = g4 int,
N+3= 3*‘2‘!’ At
N+ ntl+ N+

=8n+ 5

Example 2. What is the product of
three consecutive odd integers?

n+o=a " "
pt+4=3%"
N (ﬂ-f‘.:?_) (fh"-‘.'/_)

#

Example 3. Consider an isosceles
triangle. What is the measure of the
third angle if the two congruent angles
measure x degrees?

IB0-QA

X X

Example 4. What is the perimeter of a
square with sides of length x?

b4

X |[4r=7P

Example 5. A car travels for h hours at
50 mph. What is the total distance
traveled?

Aist = rm‘e/{?}na)
=|50A

www.bluepelicanmath.com

Example 6. What is the number that is
5 more than twice n?

An +6




Example 7. What is the perimeter of an
isosceles triangle whose base is b and
the other two sides each being 2 cm
longer than the base?

bh;l'p: Q(HQ%

=3b+4 +b
b =|3b+A

www.bluepelicanmath.com
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Example 8. What is the cost of t movie
tickets if the cost of each is $8.007?

Jt




Assighment:

Alg Il, Unit 1, Lesson 4_teacher, page 3

In the following problems, express the answer in terms of the variable given.

Simplify when possible:

1. Let n be the first of 3 consecutive
even integers. What is the sum of those
integers?

ntd=a< " "
ntd=z%" 7
n+ntd +n+4

=|8n +6

2. Letibe the first of four consecutive
integers. What is 3 less than the sum of
those integers?

[ = /E€ it
f'f'/ = a-?”_-‘!’ et
[ D= 3rd it
£'TL3 - 'gt:é fﬂlL.
A ACERPCTES
= ﬁr'-ﬁs

3. Consider four consecutive odd
integers. What is the sum of the 2" and
fourth numbers if the first number is n?

n = /J_:f ac{dfﬂf.?lt.
nty =md v "
n+6’=3’— i
n+6 =4

n+A+N+ 6
‘=|£.>n¥f

s

Y "y
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4. A playing field is 10 m longer that it
is wide, w. What is its area?

w
w + 10
A= wlw+id)
= (W2 + 10w




5. If the length of a side of an
equilateral triangle is x, what is half of

the perimeter?

3%

X
2

X

Alg 1, Unit 1, Lesson 4_teacher, page 4

6. What is the distance traveled by a
train moving at a rate of 45mphint

hours?
5{5;_;;_1 - razlf [éim)
- [45¢

—

7. Jim is twice as old as his sister. If s is
the sister’s age, what is the sum of their

ages?
Tims age ==
SiSters age =

25 S

3S

\i

8. Three siblings are one year apart in
age. If the oldest is x years old, what is
the average of their ages?

X = oldest age
X_,__,' = mx'af:{/& %a’
X-2 = youngeit a7
Average = SZ7
Xt X/ X<

or [x=/]

i

i

IX—3
]

9. A car travels for 2 hours at r mph
and then decreases its speed by 5 mph
for the next 3 hours. What is the total
distance traveled?

Efa/cfﬁ‘t& 3507“5{69
= ar +3(r-3)
= r +3r=15

Sr—/5

10. Two buses leave town at the same
time going in opposite directions. Bus A
travels at v mph while bus B is 10mph
faster. How far apart are they in 3
hours?

—A . D,
Dt = Dy+ Dg
= 5V + 3(\ o)
= 3V +3V+3BO
= [N ¥30
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11. A group of g students have
detention and one girl left early. If 8
girls remain, how many boys remain?

Jvogs 3‘/ §
=19-9

Alg Il, Unit 1, Lesson 4_teacher, page 5

**12. How long is the diagonal in a
rectangle whose length, L, is three more
than twice its width?

L

Awt3= L.E)
QW L 3)/2

Dag= J L‘;" +E—“33‘/ a/*

13. What is the average of y plus 1 and
three times x?

3x +y+/
A

www.bluepelicanmath.com

14. If a factory can produce p parts per
hour, what would be the production in
an 8 hour day?

prndu&hm cote(time)
“18p
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Unit 1: . . . ]
i‘ Lesson 05 Solving word problems with linear equations

Read each problem, set up an equation with an appropriate variable
and then solve.

Be sure to define the variable and make drawings when appropriate.

Example 1: Find three consecutive odd integers whose sum is 81.

N= 15 odd integer 425) 4 ppa 1014 =81

neg=a4 " an+6 =8/
= grd v v o 99 gn=F,l-6
n+4 =3 Shn =75
answers Ve :;‘5'

Example 2: An angle is 8 times its supplement. What is the angle?

/) = 2he Mj/ﬂ = (/o
(f0-A = ibr Supplement.

4= Ctro-A)

A= /40— A

4+ PA = 1970
G4 = /450

A= /4;_4&' = A0
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Example 3: A board game is 6 cm longer than it is wide. If the perimeter is 152
find both dimensions.

wtb
W
P= a(w+6) +Qw=153 f“?_i
aw tla+aw=15a L7 W
l.l'.w:]ﬁ‘a—l'g _
4w = 40 =14
W= Mo/ =35

Example 4: Two planes leave an airport at 1:00 PM and fly in opposite directions.
The plane going East flies at 300 mph and the one going West has a speed of 400
mph. How long does it take for them to be 850 miles apart? *According to the
clock, what time will that be?

""':':, D Da E
{zﬁ&mT ——Aotmph " Boomph —:-’E
| |
K gso N
D, +Dy =&Ssv Dist = rate(tine)
“foo ¢ + 300t =§50
7’9& = 550
= 1214 E L2 ArS.

e/ (&ﬂ) = fa?.é mnen .
Clock trine. = /200 #+ /26 =|R:/3 Fry
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Assighment:

Read each problem, set up an equation with an appropriate variable and then
solve. Be sure to define the variable and make drawings when appropriate.

1. Two planes that are initially 800 mi apart are flying directly toward each other.
One flies at 250 mph and the other at 150 mph. How long will it be before they

t?
mee DI - D-:_,
L= time | 250 megh 150 mph |
|
<

goo 5
b, + Dy = doo

/sot = 00
A0E :faaz‘ = F00
£ = |RAAT.

2. Bill’'s number is 4 more than Mary’s. The average of their numbers is 36. What
is each person’s number?

Bille # = ntY A ntdtn =3
7

f # = = 74 =2
/ﬂﬂgd‘ & DdntY =562

=
FIn+¥= 2
@n= 7R
- =

w =37

3. Initially the first bank account is S5 less than the second account. After a
month the first account had tripled and the second account had doubled. At that
time they were equal. What was the amount originally in each account?

Foned aocounts X-5 = 5500) |3(x-5) = QX

IS = O%
Jecond aecount = X =[S g;;{-lzxﬂﬁ
Y =15
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4. In an isosceles triangle the base angles are 30 degrees less than the other
angle. What is the measure of the third angle?

X +3(x-30) =180
% +aX—0= 150

80 5;:( = 240
X =80

5. The sum of 3 consecutive integers is 153. What are the three integers?

n+htl +0ted = 153

3n+3= /53
gn = /533
31 = /50

»n =80

6. The sum of 4 consecutive even integers is 44. What is the largest of those four
integers?

/] = [ even

AL NENED 11+ 10 #G =
nt@ =4 " " SNt =4y
h f‘;"'=-3’§ ; 4;?{ = 4"5’;ﬂ
= <tk v ‘h =
A fé = d’?‘!é =/€ 77 =£f

7. An angle is exactly half its complement. What is the angle?

A= the r.?ﬂj/é A= 3 (w-7)
-A = . nt #= 45-ZA
Go-A = &£§ compleme = o)

A = ‘.?0;/‘?
A =90
ALA =2

A =|Fo

www.bluepelicanmath.com



Alg Il, Unit 1, Lesson 5_teacher, page 5

8. A number is multiplied by 2 and then this product is increased by 5. The result
is 14 less than twice the opposite of the number. What is the original number?

N = the rumber En+85 "é’("ﬂ)_;‘/
INFESE = =910 — /¥
Zntdn = V¥ -5
In = /7
= v
ﬂ‘{_- F?f? o ‘_"1'{"?5

1

9. The average of three consecutive integers is 17. What are the integers?

5= 12t .:*J-:z‘égfr: HAHEL+FHE2_ gy

g =
ntl= 34 3
pta=32 v =& z o 23173
answers J ‘gf-,tgg.f:— g-f 4P
7 =

10. Long distance runner A averages 6 mph, while runner B averages 7 mph. They

both start from the same starting position; however, runner B begins an hour
after A leaves. How long will it take B to catch A?

A - DA r=6b 7 (J%ﬁ:”ﬁ
- dﬁ.}fﬂnch)
P Dg y=" £-/ 7
bn = DE
= 7(t-1)
fa':i_ - gi -9 L =| 7 howrS
&%-f?éé = :?
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Unit1: %% . . .
Lesson 06 Graphing calculator solutions: absolute value problems

Consider the solutions to the three problems: |x —4| =5, |x—4| <
5,and |x — 4| = 5. To solve these on the calculator, all will require us

to graph two functions:

Y1 =abs(X—4) (absolute value bars are replaced with “abs” from
the Math | Num menu)

Y2=5

Using a “6. ZStandard” zoom, the simultaneous graph of these two is

the following where the intersection points have been determined on
the calculator with 2" Calc | intersect (See Calculator Appendix D and

a related video for instructions.):

Examplel: |x — 4| =5
For this problem, the answers are —1 and 9 as determined in the drawing

above.

Example 2: |x —4| <5

This portion
LS i?g.

‘S'n ﬂls‘i
are 2
values that

Correspond.,
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Example3: |x — 4| =5

ooy SR NN /:f"ﬁ

- 4 q
R — —
f:: el LTEE.S asseccaleel

e fﬁ e & dcfu:j

Now consider how to manually solve a linear equation involving the absolute
value of a variable expression.

Example 4: |x — 2| = 3 When an absolute value is equal to a number, create
two separate equations as follows and take the union (or) of the answers.

{-2=3 or X-2= -3
743 X= 32

5] x =[=/
dife ansiers -

See Enrichment Topic A for how to manually solve inequalities
involving the absolute value of variable expressions.

www.bluepelicanmath.com



Assighment:

Alg 1l, Unit 1, Lesson6_teacher, page 3

Solve problems 1-3 with a graphing calculator. Make a sketch of the x-y plot and

finally draw the solution to the problem on a number line.

1. |2x—-1|+2=4

Fd

)
g
|

.5 |

2|-2x—1|+2< 4

wo ' Sutls us  fok
m < Jlaly (ohatcd r59%)
| |
o——0 < answer
3. |-2x—1|+2>4
N e g s b ok
f\/fl - aﬁu: ;;'fmatmf ryt“*J

¥ M
-'1--'5 iﬁ
— —
e ASISWEr
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Solve the following three problems manually (no calculator).

4. |x+6| =17

X+l =17 or Xtb="11
X= r?*‘{a

eIl

X="17-b
x=[-23

5.

|2t - 3| =4

9t-3=4 or PH-3="Y
2=7 ot=-/
@ fF

6. |—2z + 8| = 10

=22 +8=/o
-2 =/0-8
~Z =3

g:

—/

Review for test on Unit 1
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In problems 1- 4, solve for the variable and show all work:

1. 4(x-7)=x+2

Hy -28 = X 2
Yy - A= a1

2. —6(x—=5)=x+5
—6X +30 = X+S

—_ K_x = 5'—30
3x = 30 (iqx = 5
x =| /0 X = FQ_S
7
3. 2X(6-3)+4=x-2 32—x%) _ g
2
A (D+4 =%-3 gﬁ(_:;l-rb = —%-2
bx +44= X2 #
bX—%=-2-4 3(a~-X)="lC
Sx = "k -3X% =—16
= -6 -—3‘,(‘:,—'1.{:!_{9
= —3%X=~-
=[22
G

In problems 5 and 6, algebraically solve for the variable and graph the answer on

a number line. Show your work.

5. 5(x +7)>20

5x+85 >0
5y > a0-35
sx =—IS
% >3
o— >

“'.:,'7: o

www.bluepelicanmath.com

6. —3(p+1)<—2p
—3p-3= =P
--3‘P+9T—"5‘-3
—p£3
p=—3

W
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7. Write an expression for Bob’s age. 8. Make two associations groups from
He is 5 years older than 3 times Amy’s | the words intersection, union,
age (A). disjunction, conjunction, and, & or.
A= Amy's age Ttersection | (nion
B=[2A+5 Conjunction | Digjunetion
ck Or

9. If x is the first even number, write an | 10. An angle is one more than twice its
expression for the average of three complement. What is the angle?
consecutive even numbers.

3 A= the ﬂn&lc.
%= Isk eamn m‘ca %E qQo-A = (s gmﬁplemﬂﬂ“:'
}\-\‘g=9n— w3 L - _H} + ".
_opd W M s A QCCID

4 =3 . e A= \s0-aA+ |
A\‘&: M’.ﬁ%ﬂ— A+af = \'?'l'l
Ag.= [22th] . X422 3;i:':l_‘i‘_!.

o) smﬁiﬁenl. 3

11. The new court house is 11 meters longer than it is wide. The perimeter of the
court house is 175 meters. What are its dimensions?

= +
W L 5_‘3.25
w & 1 =(1.25]

20+ )+ = 1S w-[153 _ =

Aw+2z +2w =115 = =38.a
Ly = |TS—-32L
4w = 153

12. If twice the amount of flour in the pantry exceeds the amount of corn meal by
two pounds, what is the amount of flour? There are 15 pounds of corn meal in the

pantry. F - amount n"; -ﬂou.r
arF = 19+3
aF =117

=| 17
F ==
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**13. Solve |3x-1| =11 for x.

Alg 1, Unit 1: Review_teacher, page 3

3y -/= Il 3%-) ==1
3y = [+ 3 = -/1+
3y = /2 X = /0
v — |-l

v =|# & = 2

*14. Solve —3 < x — 1 < 6 for x. Solve algebraically and then present the answer
both algebraically and on a number line.

—3=X=/ and X—/ =G
-x = 3-/ X< Gt/
—X £ a X< 7
X=-

*15. Solve =3 >x—1 or x+ 3> 7 forx. Solve algebraically and then
present the answer both algebraically and on a number line.

X+3>7

X>=7-3
X >4

“3= x-/ or
-X=3-/
-x= 3
X £ -2
X £-2 or X>4
/H’;_ Jofutivn
L——————e o—>

& - : s
_gﬂ J+
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**16. This problem is from Enrichment Topic A: Solve |7 —6x| < 12 for x. Solve

algebraically and then present the answer both algebraically and on a number
line.

7-LX <12 and

7-6X =12
- X< \2-7 —bX > 127
—bx< S —Lx > —19
-5 19
X >~z X<Z
o =
WIS SITA
[ | |
s © M
o b
a o
~L ¢ ag -
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Slope, solving a linear system of two equations
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Unit 2: Slopes of lines: four different points of view
Lesson 01

The slope (m) of a line is simply a measure of its steepness; therefore, a
horizontal line has a slope of m = 0 since it has no steepness. A vertical
line is the ultimate in steepness so its slope is infinity (undefined).

What about lines that are neither horizontal nor vertical? We are going
to look at how to determine the slope four different ways.

First method: The two-point slope formula

Given two points (x4, y1) and (x3, y2) m = %
2741
Example 1: Example 2:
Find the slope of the line connecting the | Find the slope of the line connecting
points (2, 3) and (5, —6). the points (-2, 4) and (-2, -17).
J‘-.j. 1;5:. Y Y, ¥ Yy
m==4(-3 _ =7 _|-3 m= =]7-4 _ _—fﬁzﬂ.m
5-2 3 —2+2 2 .
Vertizal line, | no skpe

rise
Second method: m = —
run

Simply find two places on the line and create a triangle. The horizontal
line segment is the run (always considered positive) while the vertical
segment is the rise. It can be either positive or negative depending on if
it is rising or falling when moving from left to right.

www.bluepelicanmath.com
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Example 3: Example 4:
N k A"
_—_$ \“\,_‘ /'Z
P ‘l‘:
3 = BE%: al
m= rese _ (-€ m= 4 _| 2
run '_?_ Y 3

Third method: Just by looking at a line, moving from left to right,
determine if the line is going up (positive slope), is going down

(negative slope), is horizontal (zero slope), or is vertical (no slope,
undefined).

Example 5:

‘. Example 6: !

O s/ope. neg. Slope

www.bluepelicanmath.com



Example 7:

?ZSL‘I&*UE
Slope.

Algll, Unit 2: Lessonl_teacher, page 3

Example 8:

Undblved,,
1o S’fape,

Fourth method: Convert the equation of a line to slope-intercept form
(y = mx + b). The coefficient of x is the slope, m.

Example 9: What is the slope of the line
y=-13x+57?

v
m:

-/3

Example 10: What is the slope of the
line4x —5y =37

-S54 = —'J}!}{ o
Iy
g

&% 75
Jri =

S

z
£

5

Slope relationships: If the slopes of two different lines are equal, the
lines are parallel. If the slopes are negative reciprocals of each other
(they multiply to give -1), the lines are perpendicular.

Example 11: Determine if the
following two lines are parallel,
perpendicular or neither:
y=3x—1 and y—3x=5
ij-a y.'.- Ex +5
My, = 3
Slopes are the s,

www.bluepelicanmath.com

Example 12: Determine if the following
two lines are parallel, perpendicular or
neither:

y=3x—1 and 3y=—x+2

A -
- 3 = x."f:j
=3 xrg
b
m, = -%




Assignment:

1. Find the slope of the line connecting
the points (44, -1) and (-11, —6).

%Y, XYy
M= -6-C) =5 [ 1
=44 55 |/

Algll, Unit 2: Lessonl_teacher, page 4

2. Find the slope of the line connecting
the points (-1, -1) and (-1, —4).

XY, %Y
m=—4-(10)_ -4/
A

—3 _ | Ao Stpe
Sl s

3. A cone is 486 ft tall. From the
bottom of the outside of the cone, the
horizontal distance to the center of the
cone is 230 ft. What is the slope of the
cone?

436 m= rise
un

m= 48k

az0 230
m =113

4. What is the slope of a vertical
flagpole?

undefihed , ho Slope

5. Find the slope of the line connecting
the points (—4, 12) and (10, —6).

XYy RN,

me=—=6—1a__=If

lo-49 4 L7

www.bluepelicanmath.com

6. Identify the slope of this line as
positive, negative, zero, or undefined.

Y

1:

= of

| |
Horceental Lne, m =&
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8. Identify the slope of this line as

7. Identify the slope of this line as
positive, negative, zero, or undefined.

positive, negative, zero, or undefined.

SSSEEEEY | H
SuaE
¥ :
Y
negative ver ¢ line —> ne Siope

9. Identify the slope of this line as 10. Use rise/run to determine the slope.

positive, negative, zero, or undefined.

A" A"
4
)
- S

—..-r"# &3 EEE ERRRSS :3
i -----h”‘r

ng ;,.'L"Z‘UE_. m= rise - '-'__'7_

yun 13

12. What is the slope of the line given

11. What is the slope of the line given
by —11y = —4.5x — 2.27?

by3x — 15y = —17?

- 15y = - 3x~/ y= 45 x ~22

-//

=2y =17

3_. TSX% = ,¥09X +.2

3_._5._;(‘}_?‘55_ 3 » i .
/Y_L =, 409
m=\5

www.bluepelicanmath.com



13. What is the slope of the line given
byy = —4?

V= mx+b
Y = OX—4
=0

Algll, Unit 2: Lessonl_teacher, page 6

14. What is the slope of the line given
byy=13x—-27

Y /3

=

15. What is the slope of the line given
byy =—-21—-5x7?

= "5}(";('
gm: —5

16. Find the slope of the line
connecting the points (1,-2) and (-3, 4).

xi'fl Xl‘fl
m= 4-(~2) ¢ [-3
-3-/ ¥ |2

17. Determine if the following two lines
are parallel, perpendicular or neither:
y=4x—2 and y —4x=5

N =4x +
-4 FTH
i [’m_,.,_ =4

Shpes are the same

Wé/ lines’

18. Determine if the following two lines
are parallel, perpendicular or neither:

y = 3x —1 and the line connecting (1, 7)
and (4, 6).

H'“SK"'I m?_"-' G_T ::Il—

n=3 —4-1 3
]

m,.-m, = ?;,(‘E): -1

"['haj ore L

www.bluepelicanmath.com
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Unit 2:
Lesson 02

Alg 1, Unit 2, Lesson2_teacher, page 1

Two forms for the equation of a line

Slope-intercept form: y=mx+b

m is the slope and b is the y-intercept (where line crosses y-axis)

Standard form: Ax+By=C

In both forms notice that x and y both are raised to the one power.
Formally, we say they both are of degree one.

Special cases:

For a horizontal line the equation is y = a number that is the y-

intercept.

For a vertical line the equation is x = a number that is the x-

intercept.

(See Enrichment Topic C for two more forms of a line (point-slope &

intercept).

In the following problems, use the provided information to write the slope-

intercept form of the equation of the line.

Example 1: Slope is —2 and the y
intercept is —5.

M= £= -5
Y=mx+b
ﬂ = _QX'_J

www.bluepelicanmath.com

Example 2: Slope is 4 and the line
passes through the point (11, -2).

e
y= x +b (o sbin )

—2= ) +b
== ‘/41"4




Example 3:

N

= _'ll- -'?5
A

b -45 mx+b

N =<75% + 3]

Alg 1, Unit 2, Lesson2_teacher, page 2

Example 4: Slope is undefined and the
line passes through the point (4/5, —33).

L,

l (#/s,-33)

\ert, line, So equation
(S of the -ﬁrm = #

X=%

Use a graphing calculator to graph two lines at the same time so as to
compare the effect of different y-intercepts and slopes. (See Calculator
Appendix A for instructions and a related video.)

Example 5: Slope is 2 and the x
intercept is —4.

X ¢nt. S He pent 49

= Sub &
y= ax+b, s Sk

0=al4)+h
O = -§+b

p=b

Y=mx+h
y=ax+§

www.bluepelicanmath.com

Example 6: The line passes through the
points (1, 1) and (2, 7).

(xll‘fl) (K; ;‘&5
m=-7-€D) _ =& _ -,

2= | |
3: "fo-‘.(“‘"‘ﬁ] Wf"‘hﬂj
-|=6)+b
1= ~tb _-omxtb
ilmb [

5 = b 3= 1;7{.-!-5
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Example 7: Parallel to the line given by | Example 8: Perpendicular to the line
3x -2y =17 and passing (1, 2). given by y = .5x + 3 and havingay
- J = —3y +17 intercept of 2.
L3y -9 soourline oL yecip S
Y=2% T2 jhas a s m =73, neg.
OF %' = '—Q
_ Mow 3'«|-b 7]
a=2 )b yemxto Y= X +2
Q_.%_ = !’W
[
&byt
Example 9: x-intercept 5 and y- Example 10: Parallel to x + y—1=0 and
intercept 6 having a y intercept of 100.
b= xint.(s5,0) e
skt sub n (5,0 Xx+u—1=0
5 ) = "'}':- + 1
O=m ('S)""(p 3 m-=-\
—(,= Sy
[j=mx+‘:> 8= ~IX+10D
= =L x +6
y= s
Example 11: Convert y=-8x+ 2 to Example 12: Convert 44x -2y =9to
standard form. slope-intercept form.
= —gR+ 44 x -2y =9
Y -3y = -t-i'-l#‘x.+q
Ex +4 =Q :
3 = 92}1"%
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Assighment:
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In each problems 1-10 find the equation of the line.

1. Slope is—3 and the y intercept is — 4.

m=-3 p=-4
tjsmx+b

8= -3x—4

2. Slope is 2 and the line passes

through the point (5, 6).

-mXx+b

=2
" \i,=3x+b

Sub in (5,6)

- b
‘:;;fi’é?f.f J=mxsb
ia"l_q: £ /|5= ax—4

ﬁi-‘&-ﬁ)
=3
m = rise ==

Yun e
b=-2  [y= —3x—2

4. Slope is undefined and the line
passes through the point (2, 10).

3l (ay0)

Vert, line., eg (3 X=#
X=2

5. Slope is 1 and the x intercept is —5.

m=| C—-‘S,b)

=mxtb
\1\|= Wb, sub in (5.9

S=b
N=mx+tb

www.bluepelicanmath.com

(1,0) and (-1, 7).

\I = -F%K"I"Dj .S{lb

0= ~Z(yb _y-mxtb

6. The line passes through the points

(R M) (%2 ¥3)
m= -1 _ -1
-GN =
=mi+tb
J n(10)

_ =}
Y3

+=b

T
A=




7. Parallel to the line given by
3x -2y =17 and passing (3, 9).

"%*: -3X+ 17
m=3
Y2 DR, sbia 5
_ =2
T
% =b J='%_'K'|'%

Alg 1, Unit 2, Lesson2_teacher, page 5

8. Perpendicular to the line given by

y = 2x + 3 and having a y intercept of
-1.

heg. recp ofais 4
b= -l
ﬂ:mef'b

Y- =7

9: x-intercept 3 and y-intercept 8
(2,9 (o,¥)
b=8
= meto
\1= R+ 8 ) Sub (n (E'P)
O=m(3)+§
—F=2mM
"3—.—.1:'#'1
3
Lj = mx+b
‘ Y= 4%

10. Parallel to x + 7y — 1= 0 and having
ay intercept of —20.

Y4 Ty —1=0 b= —do
Ty =%+l
Y= =X

e -

N =mndb

Y= - Yg X —30

11. Convert y =—-6x + 5 to standard

form.
ﬁ=—bi+5

a’ax+3=5

www.bluepelicanmath.com

12. Convert 28x -2y = 8 to slope-
intercept form.

351—33 =f
-Jy= —28%+8

[g= =1




Unit 2:
Lesson 03

Alg 1, Unit 2, Lesson3_teacher, page 1

Consider the following two equations:

2x—4y =9
11x -5y =-8

Graphical meaning of the solution to two linear equations

What does it mean to solve this system of equations? Very simply, it
means to find all the points of intersection of these two lines. There

are three distinct possibilities as shown below:

The two lines intersect
in a single point. The x
and y values of that
point are the solutions
to the system.

7

The two lines never
intersect because the
lines are parallel but
separate.

%

The two lines are
directly on top of each
resulting in an infinite
number of
intersection points.

<

wo lines on top
of each other

So, how can we tell by just looking at the equations of two lines which
of the three pictures above represents their orientation?

If the slopes of the two lines are different, then it’s the left
picture above and we have only one point of intersection.

If the slopes are the same and the y-intercepts are different, then
it’s the middle picture above and we have no points of

intersection.

If the slopes are the same and the y-intercepts are the same
(they are actually the same line), then it’s the right-hand picture
above and there are infinitely many points of intersection.

www.bluepelicanmath.com
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In each example below, examine the slope and y-intercept. Then tell

how many points are in the solution set
sketch of the lines.

of the system. Make a rough

Examplel: -4x=y+9 and y=x—-1

m2=l

u)’

\

//

Slopes are different
(one. intecsection point)

X

Example2: —x+y=7 and y=x-1

J T ng= |
m, = |

m, =my SO the lines

s

f |

/Y

=1
|

are oDaralle]|. Th%j have =
A€ b values So Separate .

(No Solutin )

www.bluepelicanmath.com
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Example3: —x+y=2 and 6+3x—3y=0
4
3;{%& —3y=-3k-b

= )
7= | g= x¥= 7
Mma= l

b

Slope are the same ;. infact “tthe eq;u.ﬁnrﬁ
the Some. They St on P oF

meac.h sther. &Su +there are on infincte

number of points as gilen By =X+

z;;#m-zfgj many Solatibns
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Assighment:

In the following problems, examine the slopes and y-intercepts of the two lines

and then tell how many points are in the solution set of the system. Make a rough
sketch of the lines.

1. x+4=y and y=3x—8

Slepes are it Verent

m=1 my=3 One Solutidn ot

2. 2x—3y=-1 and 8x—12y = —4

Y
~3y=ax-1  -lay= ~Bx-4 /
3=%x+§ 3'—'15;-:(4;-% 5)

9 = %x+é_ / »X
Equatdns are the same
Thfinte H# of Solution pTs.

on the (ie Y=Fy+3%

3. The line given by (1, =5) & (6, -10) and 3y = —3x + 11

m= —f0-(S) _ =5 _-f Y= X +£

Y=-rx +4

-7 5
Y=my +b Mchpl"-(d"ff)
—-S= ‘fff,)f‘é Sthoes are = "z
-5+1 =b whife yﬁf.md%ﬂf

~4= 4 Lines are /¥
o Solution
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4. Line A has a slope of 3/5 and crosses the y-axis at —8. Line B has a slope of 3/5
and crosses the y-axis at 22.

They are. par alle {qr'w

’)/‘L]{’//f X “W\p Svlution

5. Line A has a slope of 1 and crosses the y-axis at 3. Line B has a slope of 3 and
crosses the y-axis at —1.

jﬂ%’ [ intorsectin point
= -I/I > X

6. The product of the slope of the two lines is —1. Hint: This has something to do
with the orientation of the line (parallel, perpendicular, etc).

”

/ -% = —/ —_— f‘é“f ara ,ﬂf@ﬂﬂﬂﬁaﬂn{ﬂr _L

So zﬁ‘é@ entersect én ane pout,

7. y=41x+2 and 2y =41x+2

MJ:%!‘ j’ ié!:ﬁ‘-f ;//

m, = o o Ry

Slopes are. af}irgmf /
[ pont of intersectin

www.bluepelicanmath.com



Alg 1, Unit 2, Lesson3_teacher, page 6

8. The line connecting (0, 0) & (1,1) and the line connecting (-2, -2) & (5, 5)

m= 122 . __)""3 7}&:

/= ‘l 6-(2) ~

=M X +5y - 4
D1t th J™ e 7

O zl S' fé5+ rA

- a =
;9 ﬂ;’;:ﬁ Y=myX +b,
equatons are y /x+o
identica

:'.‘nﬁhc"fefj 1oty pts onn Y=X

9.y=3 and x=3

+Y . i
. — / pt ot Gitersectin
T X
10. y=4 andy=-5
M
>X Parclleld Separate
No Sohfions

www.bluepelicanmath.com
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Algebraic solutions for two linear equations (elimination

i\ Unit 2
Lesson 04 g gybstitution)

elimination

There are two primary algebraic ways to find the intersection point
(the solution) of a system of two linear equations: Substitution and

Substitution method:

Example1l: y=3x—2 and x+y=6

X+ @-D=b

3=3x-9
y-3E-p Xk
“= 8

Ay =
=6-2 % =2
Y= "

X=2 Yy=4

Elimination method:

Example 2: x+2y=9 and x+y=4

%= q-@ﬁ}yﬂ -4

X=9-2-5 -3

1=9-'0'\g- -5
X = —\
Y S

Y=5

X=-1

Example 3: 5x—2y=8and —3x+2y =

Sx- 3 —3.4+24=0
—Bxlfaﬂq =0 -134-3‘2‘0

X = ¢ "[’;{p
x=4
X=4 Y=t

www.bluepelicanmath.com

Example 4: 2x—3y=1 and 5x+2y=0

alax-3q) =1-3 = A=2
3(_5>k+3§ 0-3—> 134"
| % _=a)

91%—33— x="%
_"I'_-Ej—l.

19 4

-33-‘ ™

-34= 4§ =

e P L9
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Special cases:
Case 1:

If during the process of solving two linear equations, both
variables cancel out and we are left with a true statement:

The interpretation is that we have two lines right on top of
each other. There are infinitely many solutions and can be
specified by giving the equation of either line.

Case 2:

If during the process of solving two linear equations, both
variables cancel out and we are left with an untrue statement:

The interpretation is that we have two parallel lines that are
separated by some distance and never meet. Therefore,

there are no solutions.

Example 5:
7x+y=6 and 2y=—14x+12

-f(mj-—e(—ab——v/ﬁ;{—/i
V75" 'fsz = ""‘p'
O Zo
Zrve

Equations are the same...
Infinitely many solutions:

Al points ony = -7x + 6

Example 6:

3
y=<§>x—1 and 2y =3x+8

_m = 3 X+E
2(3 x- ,'3_.32’-!-(?

3y-A= ¥ *f

No s0/ot227

Slopes are the same, but y-int
are different... Two parallel &
separate lines.

See Enrichment Topic | for how to solve three equations for three

variables.

www.bluepelicanmath.com
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Assighment:

In the following problems, solve for the intersection point(s) of the systems of
linear equations using the substitution method:

1. y=8x—11 and x—2y=1 2. x=4y+4 and y=-3x+1

"-—. <
x-a(8x-1)=1
L =LY+ = |

-sX 432 = |
—I5¥% = 1-22

3. x+y=6 and 2y+2x=0 4. (%)y=(§)x+2 and x—y-1=0

K=b-Y Bytal-y)=0 ; '
) ng—%m aﬂ%)g-&(t)x;m)
Oytla= O 3y= ax +1 vl
270 53.-..9(3+I)+|:| Yo+
r\rﬂ &iu‘hh"\ 33, gs+; +12 %= 5
3Y= 25-1'14
3y -RH = 4
9= H
5. x=1 and y=x+2 6. 18x—5y=7 and y=38
—
X=1] y=I+a 18x-,5(0)="7
y=3 g% -4 =7
[Tx = T4+4
[§% = 11

www.bluepelicanmath.com
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In the following problems, solve for the intersection point(s) of the systems of
linear equations using the elimination method:

7. x+y=5 and —x+11ly=0

Xty=5 —X+IE)=0

X#§=0 -X+s55 =0
=5 _y= -

19J W = ISES

=3 A =55

J71a T

8. 4=x+2y and —2y+x=1

6‘:2_7+,3.’
24+ XY 76{“::
J \%4_;:%
O +axX=4
:{j"i')(:“;‘ ?(:-5%
zj%‘ﬁ"”)
&jzéé’éz'f"%:%

9. .4x+.2y=.1 and 6x+ 18y =1

/ #2’?‘1‘{\ (0L
-9 Y+2Y)= D> —36 X ~I5= 1
Cx+igy =1 —» LX4 Sy= 1

g LT
HYALy= A%
4(;,-34 -'gy-

.J.:j f*-* é"

-—')5‘1

11. x =2 and x—5y =2

x_ =
- = -2
-5\_3=b

%=2] [y=°

www.bluepelicanmath.com

12. y=5x—6 and — 15x+ 3y =

—18 ~ISx+3y="I8
smt\) 3y - ISK-I8
tqu.dt U = Sy~b

z;ﬁ.’mﬁ_- ﬁof,p{.rﬁlmb
Y= SX-6
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In the following problems, use any technique. Hint: Make a sketch of the two lines
in which case you might be able to “see” the answer. This is called solving by

“inspection.”

13. x =-5 and y =11

-5, I1)

p— __* Jk-'ﬂ

www.bluepelicanmath.com

14. x+2=0 and 2(8—y)=0

X=-2  [b-34=0

’ -0 =—Hﬂ'
(@9 g - €
> %

“d
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Unit 2: : . ) ]
Lesson 05 Solving word problems with two linear equations

Solve the following word problems by first defining the two variables.
Then set up two linear equations in the two variables and solve by
either substitution or elimination. Note that when we solve for two
variables we must have two equations. Later, when we have three
variables, we will need three equations, etc.

Example 1: Larry has $1.15 worth of coins in nickels and quarters. He has one
more quarter than nickels. How many of each coin does he have?

N= # of wickels JOSH #.,354= /.75
&:ﬂofﬁ?uarz‘:rr QD=N+]
Solve by substtution
W OSN+ .95 (nt1) = /.15
OSSN + ISENE.I5 = L/S
s SON = /. /5 =, 25

o« 300 =, 9o
AMN=|3
Q= 3+/=4

3 Nickels | 4 Quarters

www.bluepelicanmath.com
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Example 2: Four years ago Bob was twice as old as his little sister. Five years from
now he will be six years older than his sister. How old is each now?

B = Bobs age Lbv
§ = Sisters age fow

B-—4=2(5-%) |
CE+5=(3;»5) rg 5 @ equators

B-4=- 95~ 8 CB+S=J7¢//
B-35=-9_~BJI= G

www.bluepelicanmath.com
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Assighment:
Solve the following word problems by first defining the two variables. Then set up

two linear equations in the two variables and solve by either substitution or

elimination.

1. The sum of two integers is 16 and their difference is 12. What are the
numbers?

,‘K=f£(- nt = X £ =/
3=¢?ﬂ§ﬁ;rf==? }(—{fﬂ Twro =
X =2
X.f.ﬁr_/é QK ..:_;.'g{
j-ﬁ"+3=f’6
y<l6-/7=2

2. An airplane flying into the wind can go 2000 miles in 6 hrs. On the return trip
with the wind the flight time is 5 hr. What is the speed of the plane in still air and
the speed of the wind?

p = speed of plane v s&ill air
w = speed of wind

thiff' = ;ﬁi{f - Tome
with wind Q000 = (ptw) S —> 2000 =3p # 5w

against wind 2000= (p=w)l~> 2000= Gp ~é¥
}a:ffm >,
L= vend
é » 2000 = éé’_f f-ﬁ'w_) > /fd000 = Fop f;&ﬁ/
5. Qooo = .5"(6; "éh_f) —> /9000 = Fop = 3o
o Lo .ﬂﬂf = MF

Dooo =;,?,-_f-5w 366.6 =?p|

Jdoo O = .5_({?'55-5) #FSw

Fooo = [F3s. 3’: 7 Sw
Qooo— [P22.3 =5wW

www.bluepelicanmath.com
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3. Juanis 8 years older than his brother Two. In another 5 years, Juan will be
twice as old as Two. How old are they now?

= Auants age tow~[77) _—~T = T+&
-(7]‘: Toves a,_g:ffm 3 T+8=2(T+3)

Jd+E =7 +/0

T = ITHS

B>y p = 2T 45

Jd= 7+8 727 = 5~&

J=3+& -~ =3

J= /7 =3

4. A pile of 34 coins is worth $5.10. There are two nickels and the remainder are
qguarters and dimes. How many quarters and dimes are there?

Discard the dwo nikels and we have IRcoins

and §5.00.
Q) = Quar ters IS5 L +./0D = 5:00
b = DwmeS (utt. both sidaky 1004 get)
( ) &+ D= 32 eﬁ“'
ola+b)=32-/0 i
[0+ 10, = 320 /2+D=32
-R5A -ﬁé:-&"ﬂ D= 32-/2
‘-.!5‘@. = '_a‘ﬁ?d" D - ﬂ?o
& = /2

5. The 10’s digit of a number is four more than the units digit of the number. The
sum of the digits is 10. What is the number?

7= fens dg# TEULYL
U = uncts gt T+ U =/0
ULY + & =70
7"_-,#6(:/0 O = oY
7 +£8 =/0 2u = 6
7= /-3 e =(3] £
7= |2 SR gk

0!'.:.9&}”!’ fumbey = o7 + U = L7+ <| @
a5 wer j

www.bluepelicanmath.com
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6. The difference of two supplementary angles is 32 degrees. What are the
angles?

f«ﬁdﬂjfﬂ L= [P0 /.Rgr(’)
d "

j = gn4 anji 3_5:35.

/06=3% = &
74 = o

7. Twins Jose and HoseB have a combined weight of 430 pounds. HoseB is 58
pounds heavier than Jose. How much does each weigh?

T= Teset weght T+ # =95
= flse3h wzgﬁ H= T+
T+ T+5F = 450

=2 = -54?&"5?

H =T+ & 2T = F72
H= Ml + ST J= [Fé lbs
H = 299/68

8. Angus earns $8.80 an hour at his Saturday job and $7.50 per hour at his after-
school job. Last week he earned a total of $127.80. The hours he worked after
school were 4 hours more than he worked on Saturday. How many hours did he
work on Saturday?

X = 5ot hts =% +hs (B ¢2) + 4 (1.50)=/27 %

—_ ek I
4= Weekdyhts " o gox + m{ﬁ??.mg 127 %
§. 80 x thso0x +50 = )97

/é,30% = )a.75°-
/6. 3p X — 27§
X = 97.82//8-30

X =|& hts

www.bluepelicanmath.com
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Unit 2: . . ]
Lesson 06 Graphing calculator solutions of linear systems

Finding the intersection point of two lines:

Using the Y= button, enter the two linear equations as Y1 and Y2.
Press the Graph button to display the two lines simultaneously.

If the intersection point of the lines is not visible, use the Zoom
button and then zoom In or Out. The ZStandard zoom will often
be the most useful. If none of these show the intersection point,
make an estimate of where it is and use the Window button to
adjust the max and min values accordingly.

With the intersection point displayed, access 2" calc |
5.intersect. You will then be asked to identify the “first curve.”
Move the blinker with the left and right arrows until it is clearly on
one of the lines. Press Enter. You will then be asked to similarly
identify the “2" curve.” Finally, you are asked to “guess” the
intersection. Move the blinker until it is very close to the
intersection point and press Enter. The x and y values of the
intersection point will be given at the bottom of the display.

See Calculator Appendix C and a related video for more details on
the finding the intersection point of two lines.

www.bluepelicanmath.com
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Using the techniques described above, find the intersection point of the
following systems of linear equations. Make a rough sketch of the

calculator display.

Example 1:
y=3x+4 and y=—2x—9

3,=3x+4
52 = ";.?K"‘q
AJ

/
\ /

"\’K

(-26,-3%)

www.bluepelicanmath.com

Example 2:
y=-3 and 2y—4+x=0

= =% +4
‘j’ A%+
9= -3
Y, = “A X+
A
N
(i0-®
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Assighment:
Using a graphing calculator, find the intersection point of the following systems of
linear equations. Make a rough sketch of the calculator display.

1. x+4=yand y=3x—8 2. 2x—3y=-1and 8x — 12y = —4

Jr= Aed Y =3%-8 —35.-.-—3,;..4 4%:-3:—4

g = (-ax-/8 yr{peifa

The two lines are roght
on tap of each other.
T7 Bnite # of Solutiing
on Y= Fx+3F

Y

X

3. y=4l1x+2and 2y=41x+2 |4, y=—6x+110 and y=x+55

4 = 4.1 %42 Yy = —ﬂﬁ.i'gﬁs

_ Yo = X &

Y.= (4 IJ(-I-.;)/.Q (u.s: 2o | Zoorm )
™

\F“:
487919 ©) |
(73571429,
42.557143)

www.bluepelicanmath.com
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> (E)x—y:l and y =x 6. y=x+99 and y-x=-3
-3=C-%)}“H 3?-:}{ 3‘13{4—4‘! Y3 = X3
= (Sfopti are e .ﬂ'zmn_)
g -y
q9 Mo interseetiin
Parallel lenes

~ x

s

7. 1x+.2=.3y and y=x+1 8. 1002y =—5x—55 and y=4x—17
(.,\)L-I-.D‘.)/E?F\jl 5. = (—5;.{—55)AGD1
}t\ Jl' 'l = \"1 - 4&_ "’?
¢5,-5) /
- ] 7
(#2809,
~.076003)
/

www.bluepelicanmath.com
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Unit 2:
Review

1. What is the slope of the line
containing the origin and (-3, -5)°?

5
3

Unit 2: Review_teacher, page 1

2. What is the slope of a horizontal line
after being rotated 90 degrees?

“'I'
Ju-ﬁa.nl line.
rie St
a:dmfz:;

3. Ahill falls 30 feet in altitude when
moving from left to right. The
horizontal distance covered is 150 feet.
What is the “mathematical slope” of
the hill?

_ fide

20 M= Fun
m= =3

|50 ”E;n

m = G

4. Converty=-8x+ 2 to general form.

Ex+y=2

5. What is the slope and y-intercept of
the line given by 12x =5y =7?

“5‘5:"1'}1*?
__&“-f-‘i
y=s*7s
('j-_-r'ﬂbt.-'ri:
m=% b=_%

6. How many points are there in the
solution for the system, y =5x—8 and
3y-15x =117

m=5 35 = fSx+H

&

3=5'x+3
b, =5

Jé&ff are Che Same 3o
f’ﬁt ‘f'ﬂ;.,{j a2re rﬂfﬁf.
it are olifFerent.

No Fonts

7. How many points are there in the
solution for the system, y=7x+5 and
y=-7x-57?

Ohne ,amf

www.bluepelicanmath.com

8. State whether the following two lines
are parallel, perpendicular, or neither:
y=4x-1 and 4y=—x+2
m, = - y = "‘.,«L,k f—-ﬁ‘
/ny = =%
myemy = ‘f("#} ==/
Perpenclccular




9. Solve by elimination:
5x -2y =8 and-3x+2y=2

Unit 2: Review_teacher, page 2

10. Solve by substitution:
y=3x—-4 and x-y=6

X~ (a3x-4)=b

K-38x +4=06
—2K = &p'—q'
“AX =

) &
=3(-)-4
U S

11. What is the intersection point of the

horizontal line with y-intercept 6 and a
vertical line with x-intercept —3?

("3 1\'::’3

12. Solve with substitution:
—X+y=4 and6bx+7y=2

J b+ 1(x+4)=2

Ly AIX+ 8=
BY = a-3A%
3% = &

X ==&
U=—Q+4
Y =2

13. The nerds in Saturday detention outnumbered the geeks by 6. Altogether
there were 22 nerds and geeks. How many nerds and how many geeks were
there? Define two variables and then set up two equations. Solve using either

substitution or elimination.

N = # of Nerds
L= # of Ceeks
N=§+6
=14

www.bluepelicanmath.com

N= B+
Wt 6= AL

L+t € =2
De =226
Q6 = 16

& -[#]
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14. The smaller of two supplementary angles is exactly one-third the larger one.
What are the two angles? Define two variables and then set up two equations.

Solve using either substitution or elimination.

A = Smatlr ang /e A=3L .ﬁ’f.ﬁ—fiﬂ)
J_u.éavefmfe, -"-.L+A=“’
A= F(35)  LoL =40
A= (45 L= é’a(éﬁ /35
15. Using a graphing calculator, solve 16. Using a graphing calculator, solve
-13x-5y=1.8 and x+y=20.2 y=5 andy=x+11.5
~/3% 45 /\‘lj
g!'(%l’”*ﬂ/('f) °
+ o =
X j _x-ﬁ 0. A / J 3
-:fﬂ- s, (59
| 33.007)

~

\"“x::l’

P

www.bluepelicanmath.com
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Graphing linear inequalities in two variables



Unit 3:
Lesson 01

Alg 1, Unit 3, Lesson01_teacher, page 1

Graphing a linear inequality in two variables

Then do the following:

or > make it dotted.

inequality.

To graph an inequality like y < 3x =5, we first draw the liney = 3x - 5.
e [f the inequality is 2 or £ make the line solid. If the inequality is <
e |f the inequality is £ or <, shade below the line. If it is 2 or >, shade
above the line. (This assumes y has been solved-for on the left.)
e |f the line is vertical then £ or < dictates that we shade to the left.

Shade to the right if 2 or >.

All the shaded points and/or a solid line are the solutions to the

In Examples 1 and 2, identify those points that are solutions to the inequality.

Example 1: e

L A

| o |
L=

CD

Example 2:

NEEEY LR
¥ L

—

e
Ll
et

A B C

In Examples 3 and 4, determine algebraically if the point is part of the solution to

the inequality.

Example3: 3x—7y<-2 (-4,10)
3(-9)-7(w)< -2

=/ -70 £ -2
—FQ = -2

v
True, 50 The point
4,10 o5 part of
the Solution. Vs/

www.bluepelicanmath.com

Example 4: (-8, 1)

~§<)-17
—§ £ /S
fFa flra_/
(- 8, 1) ¢S5 not part

o Hhe JSole fen,
Wo /

x<2y—17
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In examples 5 - 8, graph the inequality. Remember when dividing or multiplying
by a negative number to reverse the inequality.

Example 5: 2x—y2>5

Example 6: x+y>-2

-y = -9x+5
I3 X 9>-x-2a
5 = AX-35 A"j
Note reversal \:_j':#:l
2 N PPN
N N
“‘xkx 3 \'//'
N S
~ \
AN
S ~
Example 7: -x < -3 Example 8:y<4
= XL=3 49
X>3 4 a
~
A [ S
=, e x
I~ X
|~
I~
-

www.bluepelicanmath.com
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Assignment:

In problems 1 and 2, identify those points that are solutions to the inequality.

1. s * 2. A

| [}." L i Ly

e

e
e,
e
I
|

B ACGCD

In problems 3 and 4, determine algebraically if the point is part of the solution to
the inequality.

3. 77x-y<2x-1 (0,0) 4. 1024x-7y (-1,-2)
77l0)- 0< 2()-1 = 41)-7(22)
o4 -/ o= —4 4/
False /0= Jo
(0,0) &5 not a Sthethin. True !
Mo/ Yes, (-1,-2) & a dolden,

In problems 5 — 12, graph the inequality.

5. x>—2 6. y<7
N Y
el ) L

B X %
-9 ~
""I-u..hh“h“
D
"'h-..hhh

www.bluepelicanmath.com
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7. y23x—4 8. x—y>18
) —y>-X+/8
< X—1¥
W, | 3
g A
<
-4} <\
-84
4
9. x2n 10. x<-y+1
N 3¢—><1;f
e AN
L~ /\
ER Py > //:L > XK
. — / \
N\
*""f A
AN
11. 3y < 12x 12. y<+2
3-‘:.4}( AY
J -
£
LA TLTY 77 7
/ X S K
7 7
, \\ /
f
AN

www.bluepelicanmath.com
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In problems 13 and 14, state the inequality represented by the graph.

13.

'}

www.bluepelicanmath.com

14.

Y
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Unit 3: Graphing systems of linear inequalities in two variables
)Lessun 02 PRINg 5y a

In this lesson we will simultaneously graph more than one linear
inequality in two variables. The solution to this “system” will be the
region in which they all intersect (overlap).

In the following examples, sketch the graph of the inequalities on the
same coordinate system and then with heavier shading, show where
they all intersect (overlap).

Example 1: Example 2:
¥ [ 2 = \\
‘_,_14-'
L p e - e ;ﬂ‘\ ]
N i = =
] \\
7 I [ = -
- ? ] K T e
=1 T r Ee .
Ity = -
i1 ] 7
| | : ] al }ﬁ\ I
- |~ i '\\
1
y>2x—6 and y<x+2 3x—-y>4, x<2,and y<—x
-y >=3x+4
Y=< 3x-4

See Enrichment Topic B for a “real world” application of linear
inequality systems in two variables... Linear Programming.

www.bluepelicanmath.com
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Assighment:

In the following problems, sketch the graph of the inequalities on the same
coordinate system and then with heavier shading, show where they all intersect.

1. —= 2. .
T = i !l L
= = |i-'|'_ k]
= = N £ 4. 1 =
[ i r"r ir %
1 T 1 & Y fl I N

L[ by =) I | -

RN 3 kY ? /| i I % ?
K T1H TENRN 5

N o K THR 'ﬁ\ -

HEN Y 4 =
1 L aEg i JJ - I.' B!
- HP T K / =
X | =1 ' o
3 : \1\ [ "
x>0, y<2 y<X, y<—X
3. Y 4,
27%an k
At
f ] i i I i
.J.': i h{ Fi ’.r‘ . Er
i #;" b ~
.
o
HHINE »
1 . -
B & N R i
\\ T 14 K I""l. =
AEN 5 ] bl T -
¥ ™
o F =
‘\'l\.
y<x+2, x22.5 y>-=5 y<6
5. 7 P 6. :
i 7 X " l’_.-"r L i
. =)
R L £z
el W | | |~
FHH " R
i ™ 7 O
[ P |” Ll =
i JIlri i ,.
k! m}
HENENE 7 AL
i Pl e =
- AT
s 11
A L=t
\.-' \-{:

[ - Tt
x—y<1, 2y+x<10 y<—-x+3, y>-x-3
—y<L=X+l 24 = -Xtfo
.j > X-/ jE “ZxX+5
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Alg 1, Unit 3, Lesson02_teacher, page 3

7. _ 8. y
\\ r'r E l 7 =
o I ¥ I L
| 4 F. el
7 i F.f'f L_r
f, ) =1 > AE
A
7 J
7 ’ 7 ﬂg = f,’g:
£ L™ o Pl
x — M| - B F
7 A [ BT = r
A r o f_
I £ ™ -
7 | | 1
X+y+1<0, —-y<x-2 x—=7<0, x+y=20
9- * Y X< 4= X
Farallel lies,
Ho tnterfection
*g, | TIEF *10. A
] =L 17 I
_.f _.-"
- A
[ 7 y :
J F A o
=+ N "t At 7 f"‘E
i [ = 7 u
Ll [
[ - i
- I
I .!"
[ |+
s e
[ o
y>X+6, y=-x y=x—-2, y=2-3
Xﬁ—msm ./"‘.-:—-msmr
11. 1| -+ /f_;‘-

T 4
i F

y>x, y<x+2,and x<3
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x<4, x>-6, y>0, and y<8
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Unit 3:

Lesson 03 Graphing calculator- linear inequalities in two variables

The basics of graphing an inequality:

To graph an inequality in two variables on the calculator enter the
function with the Y= button. After the function has been entered as Y1,
use the left arrow to move the cursor to the left of Y1.

Repeatedly press Enter until a short diagonal line segment is displayed
to the left of Y1 with shading above the segment icon( = ). This, in
effect, converts Y1 = into Y1 2. Similarly, a short diagonal segment icon
with shading below ( k) means <.

Select an appropriate zoom level (either with Zoom and/or Window
buttons and then press Graph. The line will be drawn with the proper
shading. You are on your own with regard to the difference between <
& <and 2 & >. The calculator makes no distinction between them.

Multiple inequalities (Y1, Y2, etc.) can be displayed with this technique.
The intersection representing the solution of the system will be
evidenced by a dark cross-hatched region.

See Calculator Appendix E for more details.

How to graph a vertical line and associated inequality:

Strictly speaking, a vertical line cannot be graphed on a Tl 84 or similar
graphing calculator because a vertical line is multi-valued; therefore it is
not a function (these calculators only graph functions). It is possible,
however to closely approximate a vertical line.

Suppose we need to graph the line x =5 for Y2. The calculator
won’t allow a perfectly vertical line; however, we can
approximate one with a very steep line passing through the point
(5, 0). This would suggest the point slope formy — 0= m(x - 5).
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Let the “very steep” slope, m, be -99999999999. Solving for y we
get the following line that will become Y2 for the calculator.

Y2 =-9999999999(x — 5)
By using a negative slope this “vertical” line will be properly
shaded to the left of Y2 using the technique described above ( ).

In effect, this turns the line into x < 5.

Similarly, with ( = ), we are graphing x > 5 and the shading will be
to the right.

See Calculator Appendix B for more details and a video on graphing
vertical lines.
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Assighment:

Use a graphing calculator to produce the solution set to the following systems of
inequalities. Make a rough sketch of the answers. (These are the same problems
from Lesson 2.)

1. x>0, y<2 2. y<X, y<-—X

.
|

I:l-:ii ] Y

3. y<x+2, x225 4. y>—5, y<6
= %
x R ¥ n::n:ﬂn::::: o
N
5. x-y<1, 2y+x<10 6. y<—x+3, y>—x-3
S ‘ '
:::n:::ﬂ:ﬂ:ﬁi&:l:l:l:m— i
7. x+y+1<0, —-y<x-2 8. x—7<0, x+y=20
=i 2
. : RIS
I'I-u” HHH
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9. y>2x—6 and y<x+2

E—
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10. 3x—y>4, x<2,and y<—x




Unit 3:
Cumulative Review

1. Solveforx: 4x—x+2=5-x
Bx+a=8-X
3x+ X=5-2

4y =3

X= *4

il
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2. Solve 3—x 2 18 and present the
answer on a number line.

3-x= /8
% = /§-3
- = /5
X < -]5

]

3. What is the slope of the line

containing the points (-4, —2) and
(6,-17)?

a":'-Iﬂl :"'15!.

m= Yo=Y -
b5 Rl T

=/7 = {=2)
o)

= ~/T+a _ =55

6+4___ 1o
=|-2
"3

4. What is the equation of the line
parallel to x + y = 17 and containing the

point (-3, 1)?
Xty=17 Yy=mx+é

-—x #17| 4= IX*e
3”?5__! Jﬁéiﬁéaﬁ")

{: —;‘(—*53-!-5
= F 4+
f:—3=é 4=-2
Y= ~/¥X—2

5. Find the point of intersection of the
linesx+y=5and y=6x-1

w+ ()=5)

71_1=5 tig'ﬂ"'l
rh{gs-}-'l 5:{,{%)']
T =L =36 — |
x=(%] % 5
9=17
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6. Determine if the lines 3x—y=5 and
—6x =2y + 27 are parallel,
perpendicular or neither.

—y = ~Bx4+S -ay= &xtal

§=38%-5 y="x-T

m,=D m, =~3
Nelther
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7. What is the relationship between
the slopes of two lines that are
perpendicular to each other?

4x—-1
8. Solve 0 = —X forx.

-1 o = X4

e ¢5 He neq, ”“?"‘“’-‘"f e
of He other. gx-1 = =4X
or On)m2) <=1 G +4X=1
FX =1
X =|§
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Unit 3:
Review

1. Consider the inequality x < —4.
Which of these points are solutions to
this inequality?

(-6, 2), (-4,-7), (-1, 13), (1, 4)

(-(’f Q)

Alg 1, Unit 3: Review_teacher, page 1

2. Consider the inequality y = 2. Which
of these points are solutions to this
inequality?

(-8, 2),(4,7),(0,0), (-2, -6)

(-82), (4,7)

3. Determine algebraically if the point
is included in the solution to the
inequality.

2x—-5y>2 (3,1)

2(3)-5(1)=2
b—-S§ =l
) #3
No p nafﬂ Sﬂﬁfﬁéﬂ

4. Determine algebraically if the point
is included in the solution to the
inequality.

5x<y+1 (0,-1)

Sl)< —I1+1
o< O

l..,fgs} fﬁ'E Pﬂ-""f O{qﬁ‘ﬁ
J‘al’uéﬁﬂ.

5. Graph the solutiontox—-y2>5.

X-y=5
SERSE

y= }L—-? T} é
K
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6. Graph the solutionto y<—x+2.

\,\ M
7




7. Graph the solution to x < 22.

o8

\5 l
|

Alg 1, Unit 3: Review_teacher, page 2

8. Graph the solutionto x—y>2 and
-3x+1<y.

-9 ==Kt

\[_~
Ix’f A'( ;

l"-..--
t‘_;;hr\\
L
.__,-F"
A
LY

9. Graph the solutionto y>x and
y<—x.

Y\
S \>\

X

%

{\x

7’
/

e
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10. Use a graphing calculator to show
the solutiontox <0, y<0,and y>x.
AY y,

/
/

v X

LTV

N
WV —
/S  —

s
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